Concordance Lecture 3

September 9, 2021 1:35 PM

1 Mic e O Nedt Ledue owlive
E Q-bwﬂ’-\ jm P FCSTionA

@ DEFERT FORM

Rf,u.“ A gu-gch Su,r‘s;-l.k ¥ Jbor o luq.o{'. l{ “A oo wmﬁ, (_oy\,n_,(_,(_.‘\'toj‘, oh&v\:\t-\‘

surfea it FK
© &

(\#&)‘{:—L F alm)ﬂu%s ]"'\M o~ Pulruwt v\.\n\\o‘ -F‘[.'l.‘] < 55

L\mkubf !.LC(%.,\(:.)" Swam :6 sl-a-u.o-’i (—Pmsm\ iadsedrions  bebweua K gl
~ Suhire surfo J“,,- K,

S
s -
@D ‘"”" @D : e (K, Ks)= 1 L(00) -0
b -
X, - ol 0l (@) .0

S Rolfson 5D, 132

*HD  vursion: sem d{, G'nnau.aj ({:rMANJ{) whrseckion  behwun  sitde)  swcfaus T oand T,

w B wt Wk (mk f FaRp, Ae-o)




Sotek ?ac.,--.n.h T kot K and Scfrt surh T

Rﬂ H1(?}Z]=Z.z} g ‘E:W’br

N\ 0 ©
W) O

rw cwre ¥ on B Lt }’:= 1*{113":?"[.“.1]

)

lh.’ \/=<1 o)

Dfa The Selferk pirte o F o the mag
Vi@ AE) — 2z
(L, 09)) — fe (e ")
Wbk o s ousds, e corcagonding 2q 12y wbnix
s Ha Safd wateix V.

il e fp e
(\@\OZ) 5 %= (5 1) (O\b@ v [43)

'VV\’ & & ¥ : ~
Nlﬂ*' [ w 'm\ru'm‘tl [T »M'\AW w,\_a, it V \' ?“‘? avme artdbe ¥



% T’_or [ \emol K Wit sf-:%/‘* N\N“(“:)‘ 6 N
@ Alexomd e ?évbwmidt A ¢ (K) = deko (V - t\/T) o \omrant ?O\VG
cowadercd e B ma\E bv‘ £ ,nE Z (su. Ro §sem %C)

At('b.)= Jct(-.‘: ,:ﬂc> T E -t At(‘h)= (-T \-‘b)= -t +3L -0
@D Bt oK) < squce oy VTV on R (sec Rofsen BEL—9E3)
V, ~ (L 3) = o-(s.)=1 N, ~ 'E %) = +()- 0

Owr oKoo_Q s Yo prove:

Th 1§ K dopdoagealig ea, Hum
(«) Tox-Milor ondition: At (K) = F(t)’r\(t-l) (over 2)
(o) o’(K‘ =0

o A Hw
E (PPOOQ s\eerda - K Yoo uw = \/=(3 g) — (u),(b‘

DL‘@V\. \\‘L&L Au\—vw\.\w\' f‘b a ot I’< DY albt,(‘(y:g)y‘b(\/*\/-‘).
Note  dek(K) = |A )|

u\i K top sl = deb(K) s o s et

0—(3-) =l a—(“l.)’ (o)
Ex's dek(3,)=2 e () =5 = both net sl




Cor o sa o womcordamen vl

K~T = K&-T o la
= O: o(K# -3') :NU'(K) ¥ zr(-t)')i o (K) - s ()

= o(K)= a’(D‘)

%"6 Mo XS LBI]EZT’? s  O-grder Ff\_CI (4] e ovder 2



—

®

@ ALcerralc  ConcordAance Growp
C;lon Consdract A—w-o C — q dur o I Levine (\QG‘\)

DC‘?’\ A 2.3*1-‘ M)t-f'\); :) Wbd{’k’ o4 Ca wvsnrwuf\:\' *o

o~ \lode ki (3 C
A o
D(/"v\ T‘t\l_ \o\oo“ SUMAL o’b %etM 'V\h;\'f';‘M A.% is A\QB = (0 3)

Defn A s cdeordamkt +o B 1§ A®-B is hvﬁ?.u\co\k

e - omt)m_b => doordamX

(w) exerdse rc“'\u‘;w. s W-\-r:g
‘,g dek (A 'AT) 0 , Mo alio  Transitivne

T (G,®) o v heiom o~
?NO-F w Hwe w\u\‘\'A-vo D\u“r'v'\n\-“ m‘\"s]

\Arsan -(AY):= [—A]

‘T"\Larwv\ (Lu‘m:. ’Gﬁ) o j—"t{ M ov Awe.

K] — )




_r\-«’o ‘HA'WT Yo (JI\MJ(, K
*swr I\u;\—'\v-k (wv\.s'\—rma.:l'iwe. , A L'.v&-u‘d-o« -Nale l.g-\3)

leb KT hm Sef b W
g_ﬁ K~3 = V wobordot Yo W

Vb W i VO-W i comervont do o wolie s
X e

50 NS Mgiw to ahow:
0! v



